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_ Chapter Test

L. Find the volume and the total area of a cube with edge 2k.

- A pyramid has a rectangular base 10 cm long and 6 cm wide. The pyra-
mid’s height is 4 cm. Find the volume.

- A cone has radius 8 and height 6. Find the volume.

4. Find the lateral area and the total area of the cone in Exercise 3.

5. A right triangular prism has height 20 and base edges 5, 12, and 13. Find
the total area.

. Find the volume of the prism in Exercise 5.
. A cylinder has radius 6 cm and height 4 cm. Find the lateral area.
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. Find the volume of the cylinder in Exercise 7.
. A regular square pyramid has lateral area 60 m? and base edge 6 m. Find
the volume.

. A sphere has radius 6 cm. Find the area and the volume.

e

- Two cones have radii 12 cm and 18 cm and have slant heights 18 cm and
24 cm. Are the cones similar?

- Aregular pyramid has height 18 and total area 648. A similar pyramid has
height 6. Find the total area of the smaller pyramid.

. The volumes of two similar rectangular solids are 1000 cm? and 64 cm?.
What is the ratio of their lateral areas?

- A cone and a cylinder each have radius 3 and height 4. Find the ratio of
their volumes and of their lateral areas.

. Find the volume of a sphere with area 94.

- A cylinder with radius 7 has total area 1687 cm?2 Find its height.
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